EARAROBEEIERT — 2 N— IBISH —F

20185F9R5H (K) 10E%#A1H

el 52334 Yo% 3% ‘ [Xfz] W ‘ [3eEmsh]l  — | & (&) 1400M &
[xE£] 1 %&:250,000  2#%:58,000M™ ~ 3#%&:25000M  43%&:18,000H ~ 5 #&:13,000 M
B\ BB RESB MK HE BF (F8) 4L (&%) | BBIEG | EOF |SIEH | AR | HE | NG FIR) / BE / £EHS
AP E=1=E VAN 3 ;%lf%%ﬂﬁz 1:(2_9).3 2221 395 — | 1 | 493 %ig (542)
L:814%Yv bV BiLAYr/AvCX (1) S EHIS
olgliol Yy Tn # o3 ;ﬁ;%ﬁ/% 1:&0).3 3-3-32 |40.3| — | 7 | 451 ﬁéim (&)
T ETANT ISR B3 HTTESD ®) | ex mw
f 3 | EEEth 1:30.4 1-1-1-3 | 40.6 | — 2 442 | HEEFIBE] (5HA)
3 3 fyFrX i‘\rSS% (1/2) o) HRANRIE :
R T b A—Tr—K=F B:YINF X i FE
4 o | FI=—y 43 E-gu[J)iﬁz 1(:13/02.)5 8-8-4-4 |40.3| — 6 459 '%(E)E{r\ _(ff’?
Ri—bIVEYIL B:hHTTIVR—7 (+6) HBET7—L4
5 4| T HRF— f 3 ;}kszaﬁg% (11:310/.28) 4466 (406 — | 3 (3.5;29) ﬁ)_%ﬁi% (%42)
Riwvysdyk YLy BB %Y K
6l7]7 Z3I4q4TI—I— 4 3 ﬁ%ﬁﬂﬁl (11:311/.21) 6-6-4-5 |40.9| — 8 421 %)E%E (8544)
LIV NATA—h— B:Y—TI LR © WA 517
7lglg| FLTKU— it 3 ﬁ%ﬁz (11:311/.233 7-7-8-7 | 40.3| — 4 437 g%gg (S542)
L h—bhTLES BiFLITET 12 S
gl7lg|O—4¥n—7 f 3 51%5%31 1:32.4 10-10-9-8 [41.0| — | 10 | 386 ,%(E)Efr\ (gf)
: ®) A=257
RiO—XFLTHL B F—TFL—> @8 | mhigis
o6/ 77731 o3 | RIAA et 4-5-7-9 423 — | 5 | 42 %ﬁﬁ; ()
LO— KPNF4v BHv—sA—> 2 | Lm s
100111 |2V RHFRAZ # 3 g’i%%ﬂ\ (11:312/.29) 9-9-10-10 | 41.1| — | 9 | 419 %g%i\_(gﬂ/’;‘)?
LTYF—Y BiIYIYAO—Z 42 g1
@ 1 —F—EBIE
13=7r= 3,5,10,(4,6),7,9,2,1,8
23=3r= 8.8, 10,4,6,7.9.2, 1,8
3=—F— 3,5,10,(2,7),4,6,9,8,1
41—F— 5,10,3,2,7,4,9,8,6,1
[ F/N=5
BB 5 130M 794K 5-10 600 % E 5-8 400/ &R 3-5-10 1,910[
% B 5 100 B 1704 B = 5-10 1,450 R3] 5-10-3 8,090
10 420 3-10 2,070M B HE 5-10 2,390M
3 100M

ABICOVWTRDTEEERROODE. TR LIV,




